Pre-Calculus 11

2.2 – Trigonometric Ratios and Special Right Triangles
Given any 
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We know:

[image: image2.wmf]222

xyr

+=




[image: image3.wmf]®



Therefore:
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We know:
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Now:
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Remember, by “ASTC”: 
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Ex.    Suppose 
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 is an angle in standard position with terminal arm in quadrant III, and 
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Ex.    Determine the values of 
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 when the terminal arm of quadrantal angle 
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SPECIAL RIGHT TRIANGLES
There are two right triangles where we know the ratios.  We can use these ratios whenever we come across a reference angle of 
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45-45-90 Triangle



30-60-90 Triangle
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Ex.   Determine the exact value of 
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A quick trig review (with your calculator):  Round to 4 decimal places.

Ex.  
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Ex.  
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Ex.  Solve for 
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Ex.  Given 
[image: image34.wmf]cos0.6753

q

=-

, where 
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, determine the measure of 
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, to the nearest tenth of a degree.





















Homework:  p. 96 #1-6, 8, 9
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